SMT. SUNANDA PRAVIN GAMBHIRCHAND INSTITUTE OF NURSING & PARAMEDICAL SCIENCES



SMT. SUNANDA PRAVIN GAMBHIRCHAND COLLEGE OF NURSING,

Affiliated to: Maharashtra University of Health Sciences, Nashik. Maharashtra State Board of Nursing and Paramedical Education Recognised by: Indian Nursing Council, Maharashtra Nursing Council

MUHS IMPACT ASSESSMENT A+ GRADE (2018-2019)

SEVA MANDAL EDUCATION SOCIETY President

Hon. Secretary Dr. Dilip R. Trivedi Shri Pravin G. Shah LOCAL MANAGING COMMITTEE

Chairman Vice Chairman Secretary Conveners Dr. Bharat M. Pathak Shri Rajiv Shah Mrs. Shilpa Shettigar Dr. Latha Choudhari MEMBERS

Dr. Shilpa P. Charankar, CDR (Retd) J.C. Sharma Ms Preena Gala

INVITEE Mrs. Delphina Mahesh Guray

SECOND YEAR BASIC B. SC. NURSING (SEM III) **ACADEMIC CALENDER 2022-23**

Sr No	Month	Activity	Working Days	Holiday/ Sunday	Theory Hrs	Practical Hrs	Worki ng Hrs
1	FEB	Theory Block	11	3	10x7=70 1x 5=5	-	75
2	MARCH	Theory Block and class test	28	6	23 x 7=161 5 x 5 =25		180
3	APRIL	Clinical Block (Sion)	20	7		20x8 = 160	160
4	МАҮ	Clinical Block (Sion)	27	6	5 x 5=25 5 x4 =20	22x8=160	221
5	JUNE	Theory vacation		Vacation= 14 days PL=7	EXAM=5		
6	JULY	Theory (12 days) CLINICALS	24	4	$ \begin{array}{c} 10 \times 7 = 70 \\ 2 \times 5 = 10 \end{array} $	12 \ 8 = 96	176
		Total	110	47	391	416	818

338, R.A. Kidivai Road, Maiunga (E)

Principal Smt. Sunanda Pravin Gambhirchand College of Nursing

Website: www.smescon.in Email Id: smes6127003@gmail.com Phone No. 3022 2009 379 400019

Address: Smt. Parmeshwari Devi Gordhandas Garodia Educational Complex, 338, Mat. Nicwal Road, Matunga, Mumbai- 400019

Mumbai

SMT. SUNANDA PRAVIN GAMBHIRCHAND INSTITUTE OF NURSING & PARAMEDICAL SCIENCES



SMT. SUNANDA PRAVIN GAMBHIRCHAND COLLEGE OF NURSING, Affiliated to: Maharashtra University of Health Sciences, Nashik. Maharashtra State Board of Nursing and Paramedical Education Recognised by: Indian Nursing Council, Maharashtra Nursing Council

MUHS IMPACT ASSESSMENT A+ GRADE (2018-2019)

SEMESTER III				
Subject	Alloted hrs by MUHS	Alloted hrs by College		
Applied Microbiology & infection control including safety	40	0.5		
Pharmacology I		85 25		
Pathology I	20	25		
Adult Health (Medical surgical) Nursing I with integrated pathophysiology	T= 120, L= 40, C= 480	T= 130, L= 45, C= 496		
Professionalism, Professional values & Ethics including bioethics	20	25		
Self study/ Co-co	40+40	50+50		
NAAC activity		12		

All Hours are calculated by including exam hours and co-curricular Exam preparation hours are calculated separately.



Principal
Smt. Sunanda Previn Gambhirchand
College of Nursing
336, Rose (Gowar scoad,
Matunga, Mumbal - 400019

SMT. SUNANDA PRAVIN GAMBHIRCHAND INSTITUTE OF NURSING & PARAMEDICAL SCIENCES SMT. SUNANDA PRAVIN GAMBHIRCHAND COLLEGE OF NURSING & ANM SCHOOL OF NURSING

Transplant Coordinator Certificate Course

SKILL COURSES: ECG Technician, CSSD Technician, Radiology Technician, Lab Assistant, Dialysis Assistant, Cath Lab

Affiliated to: Maharashtra University of Health Sciences, Nashik.

Maharashtra State Board of Nursing and Paramedical Education
Recognised by: Indian Nursing Council, Maharashtra Nursing Council

MUHS IMPACT ASSESSMENT A+ GRADE (2018-2019)

ACADEMIC CALENDER 2022-23 IV SEMESTER (BSC NURSING)

Sr. no	Months	Activity/Block	Working Days	Holi-day/ Sundays	Theory	Practical Hrs.	Working Hours
1	SEPTEMBER	THEORY BLOCK	22 DAYS	02(04)	7*19=133 5*5=20	00	158 HR
2	OCTOMBER	THEORY BLOCK	24 DAYS	02(05)	7*20=140 4*5=20	00	160 HR
3	NOVEMBER	THEORY BLOCK + DIWALI VACATION CLINICAL BLOCK (SRM+LION+MOC)	26 DAYS	06(04)	9*7=63 2*5=10	9*8=72	T=73 HR P=72 HR
4	DECEMBER	CLINICAL BLOCK (SRM+LION+MOC)+ REVISION BLOCK + CHRISTMAS VACATION	24 DAYS	02(05)	3*8=24	17*8=136	T=24 HR P=136 HR
5	JANUARY	REVISON BLOCK +PL + MUHS EXAM +SION HOSPITAL POSTING +THEORY BLOCK	26 DAYS	1(04)	1*8=8	7*8=56 8*6=48	T=62 HRS P=104 HRS
6	FEBRUARY	SION POSTING + THEORY BLOCK	24 DAYS	1(04)	4*3=12	19*6=114	T=12 HRS P=114 HRS

SMT. SUNANDA PRAVIN GAMBHIRCHAND INSTITUTE OF NURSING & PARAMEDICAL SCIENCES SMT. SUNANDA PRAVIN GAMBHIRCHAND COLLEGE OF NURSING & ANM SCHOOL OF NURSING

Transplant Coordinator Certificate Course

SKILL COURSES: ECG Technician, CSSD Technician, Radiology Technician, Lab Assistant, Dialysis Assistant, Cath Lab

Affiliated to: Maharashtra University of Health Sciences, Nashik.

Maharashtra State Board of Nursing and Paramedical Education
Recognised by: Indian Nursing Council, Maharashtra Nursing Council

MUHS IMPACT ASSESSMENT A+ GRADE (2018-2019)

SEMESTER IV				
Subject	Alloted hrs by MUHS	Alloted hrs by College		
Professionalism, Professional values & Ethics including bioethics	80	82		
Pharmacology II	40	42		
Pathology II & Genetics	20	22		
Adult Health (Medical surgical) Nursing II including Geriatrics with integrated pathophysiology	T= 120, L= 40, C= 480	T= 130, L= 42, C= 559		
Self-study/ Co-co	20+20	20+22		
NAAC activity		16		

COORDINATOR SIGN

S Smt. Sunante province of the state of the

PRINCIPAL SIGN

Principal
Smt. Sunanda Pravin Gambhirchand

College 338. P rsing

338, P

Ji Road,

Matunga,bar - 400 019.